1RICH3 & (FE8REIR)

rEses 137 =
ASFfn 54 2AHA17H

KRB ASTESI—THS %S &

HRat RFEME

REDMR TR BAE &

METiR s W Ok

E&lqll

B E

FFS5E1A 31 BT THEO D - - —REEMINEEREIZ OV TR, BEYD
E R NG IC B DIERBTRFBIEDOREICL Y, RO EBVFFATT 5,

EET YRR
B U 4B

AR ASTESIT—THS8&ES &
MRS R

Btk — fix BEZE ) O TR IR

T (AIER - AR - LR

x % o AN K

I gE - EH

REHGRERHHRS REE 22—
M BLEAR Ut A LR E 5

BOE R F OBE

BADT D5 T pxothvens - EEEEEREASE R TE
PR LM BRI - AR AL ARRS - B R
¥ % 0 K H| HEHN
Ay A
LT LT KEE R A B DK TR 5 1%

G:iéo

o [H

AfsE2A1078 »o Sf7#£2A168 <

#ow oo % 4

B4 5 DT




A 25 (58 5 5BIR)

FEEDMAFHRSES

AR

4%f 544 38 38
RERMEE FHE BE &

KE BRI S 11 B

1 -y | =
.]-_ri. r

KE 7 SRR RAL S BEFEM O LR ONERIZ BT 5 R OGIBETHAIE 5 ROBEITES
&, TROLBYHEABEBRIZAELILOTEITLET,

B
AEES 87
FRASIRA SM5EIA4HIDL TMTHE2HLI6HET
B F 28— BUh OFESR A WA T DY
A 100 & 1775 | BB 7FEAE | 3900kg BIER - RHR - LK
K 100 & 5456 Xy TA— 3,950kg FIER - TR - LK
AF 100 3 9752 X A= 3,000kg BIER - A - LK
KF 100 \» 245 Xy 7 A— 2,000kg IR - RER - MK
K 100 & 7838 F ¥ T A 2,000kg IR - RER - MK |
WA A 480 3 5550 Xy 74— 350kg BIRR - R - HLK |
AKF 881> 1887 BESr 2,000kg RE:S
K= 800 & 4090 BEIr 2,000kg BIES
/K= 800 & 3730 -2 1N A 1,950kg AR
K 480 3 4452 AVS 350kg RIER - R - HLR
WERLTH (ZHOHE) NPy WMATER/ A (bV)
BRETTH — AR K E AR - REK - LK 0.12
BE &
BRIES, HMARPIRUHMARASEEZEFTZ L,




